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Regq. NQ.

VI Semester B.Com. 2 Exammatlon, May/dune 2017
INCOME TAX — II

‘ (Regular & Repeatets)
(2011 - 2012 Onwards)

Time : 3 Hours . o | - Max Marks 80

Instruct:ons 1) Ans werall the Sections accordmg to internal choxce
2} Provide working notes wherever necessary.
3) Simpleand non-programmed calculator is allowed.
4) Question under Section— "D’ is compulsory.

- SECTION-A
Answers any tenof the following. o - (10x2=2ﬂ)

1..a) Whatis long term capitali gain?
b) How do you treat speculation busmess loss ?
¢) What are the prowssons regardmg set off of short term capltal loss ?
d) How do you treat dividend received from co-operative society ?
e) Who is a working partner ?
f)- What are casual incomes ?
g) What do you mean by the term security ?
h) State the limits of deductions U/S 40(b).
i) What is book profit of a firm ?

j) State the rate of tax in case of w:nnmgs from Ioﬂerles and give formula for
grossing up.

k) State the index nurhbers for the year 1981 — 1982.and 2015 - 2016.

) Give four examples of income taxable under the head income from other
SOUrces. | ‘ |

P.T.0.
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- SECTION-B
Answerany three of the fOIlowing : o _ {3x5=1 5)

2 MISS Nanda of Vijayapur is the owner of an agncultural land which was purchased
- by her on 18! April 1981 for Rs. 2,00,000. She started a real estate business on
1-4-2015 converting the above land into stock-in-trade of her business. The fair
market value of the same on that date was Rs. 18,82,000. She sold the same for
Rs. 24,82,000. The costinflation index number for the financial years 19811 982
and 2015 —2016 were 100 and 1081 respectively.

‘Compute her capital gain income from transfer of capltal asset and income from
- business for the Assessment Year 2016 -2017.

3. The Written Down Value of Il block of assets consisting of plant ‘A’ of the company
was Rs. 16,00,000 on 1-4- 2015. On 1-5-2015 plant. ‘B’ was: purchased for
Rs. 29,00,000 and freight and erection charges on the same amounted to .
Rs. 1,00,000. The company aiso recelved a subsudy of Rs. 10, 00,000 from the
government,

The plant ‘A’ was destroyed by flre in January 2016. The damaged plant was sold
for Rs. 2,00,000 and a claim of Rs. 4,00,000 was received from the insurance
~company. The deprecnatlon on the plant was at 15%.

- 1 Aty . b 2 v 1 i

‘The Written Down Value of | block of assets (buildings) was Rs. 3,00,000 on
1-4-2015 and it was sold for Rs. 4 ,00,000 on 1-2-2016. The rate of deprecuatron
on this block was at. 10%. .

Calculate the Written Down Value of plant on 31-3-2016 and the cap:tal gam on
sale of building.

- # ot -

4. From the following information compute the taxable income from other sources
of Mr. Abhishek for the Previous Year 2015 -2016 ;

| Rs.
a) Director’s fees - | _ {,000 ’
b) Royalty on books - o 2,000
¢) Income from agricuiture in Bangalore 25,000

d) Agolden chalnfound !ylng in the railway platform. ”30,000 :
e). Rentfrom vacant land in Hubli L 20,000
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f) Wmnmgs from horse race (gross)

g) Interest from tax-free debentures of X Co. Lid.
h) Rs. 10,000, 7% capital investment bonds
i) Interest received from fixed deposit with SBI

5. How do you tréat_ the foﬂowing incomes while compulting‘ total income of ‘an c

individual ?

a) Share of profit from a firm.

20,000
9,000
7,000
8,000

b} Income received as a member of H.U.F.

¢) Share of profit from Association of Persons.

d) Dividends from a domestic company.

e) Salary from a firm of which the assessee isa partner
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6. Mr. Anand submits the fotlowmg |ntormat|on pertarmng to the prevsous year .

2015 —2016;

Income from salary

Loss from self-occupied property
| Business-lossés o

Income from interest from bank
. Winnings from lottery (gross)

- Rs.
500,000
75,000
2,00,000
1,00,000
50,000

‘Compute his gross tdtal_ income forthe A.Y. 2016 —2017.

SECTION-C

Answer any two of the fonowmg

(2x15=30)

7. The followrng is the summery of cash transactlons of Dr. Sa’ush for the prevuous

year ending 31-03- 2016

Opening balance - | 50,700 |
Consultationfees 3,086,000
Rent from house property 48,000
Visiting fees . 90,000

Gifts _— 60,000

Hospita! rent -

~ Staff salary
Cost of medicines
Surgical equipment

~ Income tax.

50,000
58,000

50,000
60,000
12,000
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¢) He had shares of the face value of Rs. 2,50,000 of a imited company which
were purchased for Rs. 2,59,000 in May 1994. He sold them for Rs. 10,82,000
on 30-09-2015 and also paid brokerage at 1% on the face value of shares.

d) On 30-11-2015 he sold his personal car for Rs. 90,000 which was purchased '
four years back for Rs. 60,000. '

e) He sold the listed debentures of a company on 01-08-2015 for Rs. 6 83,000
which were purchased by him for Rs. 1,52,500 on 01-02-1997. '

f} He sold ancestral omaments on 01-07-2015 for Rs. 28,87,500 which had cost
his grand-father Rs. 50,000 in 1945 and whose fair market value as on
01-04-1981 was Rs. 2,50,000. » .

The cost inflation index for the relevant financial years is 1981 — 82 : 100;
1985-86:133;1994-95: 259; 1996 — 97 : 305 and 2015-16 :1081.

. Compute his Taxable Capital Gain and also Gross Total Income for the
- AY.2016-2017.
‘9. Mr. Pratap, amember of the parl:ament has furmshed thefol!owmg details of his
income for the previous year 2015 ~2016; -

: a) He received a royalty of Rs. 25,000 in respect of a book written by himand he
claimed Rs. 5,000 as expenses of manuscript.

b) Rs. 30,000 per month salary as member of parliament.
c¢) Rs. 2,50,000 as daily allowance in the year. A

d) Rs. 20,000 as dividend from a company in Paris.

e) Rs. 15,000 as dividend from Bata Ltd. Kanapur.

f) Winnings from lotteries Rs. 35,000 (net).

g) Joint letting of building and machinery :

- Rs.
Rent received 30,000
Repairs 7,500
Insurance . 4,000
Depreciation | 8,000

h) Director’s sitting fees received Rs. 10,000.
i) Dividend from co-operative society Rs. 4,000.

j} There is a credit in his pass book of Rs. 4,000, the sources for which cou!d
not be explained by him. A :
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k) He also invested in the following securities;
i) Rs. 25,000, 10% Government bonds.
- ii) Rs. 72,000, 10% tax-free commercial securities.
m) Rs. 40,000, 18% tax-free debentures of Tata Co. Limited.

He purchased Rs. 20, 000 10% Madhya Pradesh Government securmes on
01-12-2015.

Interest on the above securities was payable half-yearly on 301 June and on
315! December every year.

~ He claims the following expenses :

i) Intereston loan on purchase of the above secuntres Rs. 5,000 which is payable
to a friend in Canada. The interest is paid i in Canada but, no deductzon of tax
at source was made.

ii) Interest collection charges paid to bank Rs. 250.
fiiy Commission paid for purchasing securities Rs. 2, 000

Compute his income from other sources for the Assessment Year 2016 — 201 7.

10. Anand, Basu and Chan_dru are the partnersina busrness,furm sharing profits and

| | 11 .1 : | |
losses in the proportion of 3 ,§and 5 respectively. Anand and Chadru are the

~ working partners. Their capital accounts were showing credit balances of
Rs. 1,50,000, Rs. 1,00,000 and Rs. 50,000 respectively as on 01-04-2015. The
Profit and Loss Account of the firm showed a net profit of Rs. 2,04,000 after
debrtmg the following accounts.

| Rs.

a) Salary to partners : - " Anand. 36,000
. Basu 24,000
b) Bonustopartners: Anand 24,000

© Basu 16,000

| Chandru 8,000

~ ¢) Commissiontopartners: Anand - 40,000
- Basu 30,000

o Chandru 30,000

d) Interest on Capitals : - Anand 21,000
- Basu 14,000

Chandru 7,000
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e} Rent of bmldlng to Anand Rs 48,000 per annum the fair rent of the same
being Rs. 30,000. '

f) Legal charges for drawrng up anew pannershtp deed Rs. 2,000.

g) Donation to the fund estabhshed by State government to provide medlcal '
relief to the poor Rs. 10,000.

h) Donation to Jawaharlal NehruMemorial Fund Rs. 10,000.

- i} Depreciation charged Rs. 20 000 whereas the depreciation aliowable as per
" LT.Rulesis Rs. 30,000.

The following amounts were credrted to the PandL A/c:
i) Interest on bank term deposits (gross) Rs. 40,000.
ii) Bad debts recovered Rs. 8,000 which were disallowed earlier.

Compute the total income of the firm for the Assessment Year 2016 —2017.
| - SECTION-D
(Case Study)

Compu!sory question. | o N - (1*15:15)’ )

11. MW/S Vijay and company is a partnershrp firm of which Mr. Vijay and Ajay are the
partners sharing profits and losses in the ratio of 2 : t Their capitais stood at
Rs. 2,50,000-e¢ach on 01-04- 2015

The Profit and Loss Account of the firm showed a net loss of Rs. 40,000 after
charging the following for the previous year 2015 —-2016:

a) Interest on capital at 20% Rs. 50,000 each.
b) Salary to partners perannum: '
Vijay Rs 30 000 and Ajay Rs. 1,70, 000

c) Rent paid to partner Vuay Rs. 24,000 per annum for the firm’s premrses

1) Compute the income of the firm for the Assessment Year 2016 - 2017
assuming that :

i} Both the partners of the firm are working partners
it) Mr. Vijay only is the working partner.
iii) Mr. Ajay only is the working parther.
Case Study :

2) State the reasons for the difference |f any, in the total income of the: frrm
- under the above circumstances.
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Reg. No.

Slxth Semester B. Com 2 Degree Examination, Maleune 2017
| (2011-2012 Onwards)
COSTING METHODS AND TECHNIQUES - II
(Paper — 1) (Regular and Repeaters)

. Time'S-Houfs _ . - o o :,» Max. Marks : 80

Instructions : 1 ) Attempt questrons accordmg to mtemal cho:ce in each
Section.

2) Working notes must-be given wherever r?ece'ssary.
3} Usenon-programmable calculators only.
SECTION-A
1. Answerany ten of the following :
a) State any four mdustnes to whnch operating costmg is suntable
b) Give two features of JOb costing. ‘
_¢) What is abnormal loss ?
d) What do you mean by procese costing ? .
.e) What is operating costing ?
f) Write two features of process costing. |
g) What is work certified 7
h) What is retention money .‘?
i) Name four industries where output costing is appiieable.
j) Whatis erofit reconciliation statement ? | |
k) What ie contribution ? | A |
1) Write two assu mptions of marginal costing. _ o 0x2;—.20)

P.T.O.
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| SECTION—B |

- Answer any three of the following :

2. VAL runs fleet of buses as follows :

- No.of Buses ~ Seating capacity
A)S | . %0
B) 5 ' : 40

Each bus makes 2 trips in a day covering distance of 100 kms. Each way per trip-
on an average buses are full on onward journey, but 75% seats are occupied on
“return trip. Assume that the company operate its fleet for 25 days in a month,

Calculate total passenger kms for the month

3. The following data relate to the man ufacture and sale of 10,000 units of a standard -
product which is sold at Rs. 5 per unit.

Raw materials = =~ Rs. 20,000
Direct wages - Rs. 12,000
Machine hours worked . 1,000 Hrs.
Machine hourrate Rs.5
~Office overhead | 10% on works cost
Seliing and distribution overhead 50 paise per unit. Prepare a cost sheet to find
out: ' S

a) Cost of production per unii and
b} Total proﬁt '

4. From the following information, calculate proflt to be transferred to Profit and
~ Loss Account and reserves :

Contract price Rs. 40,00,000/—

Work certified - -~ 90% of the contract price
Notional profit _ ' - Rs. 5,00,000/-

Estimated profit | _ ~ Rs. 4,80,000/-

5. From the following information calculate :
a) B.E.P.sales value
b) P/V ratio if sales price is reduced by 20%
' Sales — 20,000 units at Rs. 50 per unit.
P/ ratio —40% |
Fixed cost — Rs. 1,20,000.

6. What are the reasons for disagreer_nent in cost and financial profits ? (3x5=15)
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| | SECTION~C o -

~ Answer any two of the follownng

7 S. K. Transport Company runs 5 buses between two cattes which are 100 kms
apart. The seating capacity of each bus is 50 passengers. The following are the
particutars obtained from the books of the company, for the month of Nov. 2015.

Salary of 5 drivers @ Rs. 3,600 each per month.
Salary of 5 conductors @ Rs. 2,000 each per month
Diesel cost — Rs. 5 per km
Cost of each bus — Rs. 9,50,000
Scrap value — Rs. 50,000
Life of each bus - 5 years
Repairs and maintenance Rs. 25 per 100 kms.
Road tax Rs. 18,000 p.a. perbus.
- Office expenses Rs. 40,000 p.m.
Sundry charges Rs. 35,500 per month. .
During onward journey the buses are full and during the return journey 80% of
the seats are occupied. Each bus makes two round trips daily.

Find the cost and fare per passenger km. if the company wants to earma proflt of
20% on cost. :

8. The finished products of a manufacturing company passes through three
processes, namely A, B and C. The output of each prot:ess is transferred to the
next process and the finished output of the process C is. transferred to flnlshed
stock. There was no stock of work-in-progress in any process.

Prepare process accounts, abnormal loss account and abnormal gain account
from the followlng mformataon :

A B C

" Materialused (Rs.) | 1,20,000 70000 40,000
Direct labour cost (Rs.) - 80,000 60,000 50,000
Production expenses (Rs.) 40,000 39,100 24,180
Output in units _ o 38,000 34,600 32,000
Normalloss . o 5% 7% 10%
Value of scrap (Rs. per unit) : ‘ 450 500 - 800

Process A was fed with 40, 000 units of raw mput @ a cost of Rs. 3,20,000/-.
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9. The profit as disclosed by Cost Accounts of the Excel Tools Co. Ltd., was Rs.
1,00,000 for the year ending 31-3-2009. A scrutiny of cost and financial accounts
reveals the following : T _ ' .

: : Rs.
.Income-tax provided in financia! accounts 3 30,000
Share transfer fees credited in financial accounts . 2,000
Company’s provision for doubtful debt o 10,000
- Qverhead as per cost accounts - ' - 17,000
Overhead as per financial accounts - : 14,000
Directors fees shown in the financial accounts , 4,000
Depreciation charged only in financial accounts -3,500.
Value of closing stock in financial account _ _' 10,375
Interest on investment not included in cost accounts ’ 2,000
Value of closing stock in Cost Accounts ‘ o - 9,375
Good-will written off in financial accounts : 4,500
Stores adjustment credited in financial accounts 500

Prepare Reconciliation statement and show the profit as per financial accounts.

10. Mathoshri constructions commenced construction of a building on 1-1-2009. The
following is the expenditure on the contract for Rs. 4,50,000.
Materials issued to contract —Rs. 76,500; Plant used for contract — Rs. 22,500;
Wages incurred - Rs. 1,21,500; Other expenses incurred Rs. 7,500.
Cash received from the contractee amounted to Rs. 1 192,000 (One iakh ninety-
two thousand) being 80% of the work certified. Plant which cost Rs. 4,500 and
materiais which cost Rs. 3,750 were destroyed at the beginning of the year. On
31-12-2009 plant which cost Rs. 3,000 was returned to store, materials costing
23.136%500 were in-hand on site and the cost of work done but uncertified was
Charge 15% depreciation on piant.
Prepare: : '
1) Contract Accoun , o _
2) Contractee’s Account. ) (2x15=30)

SECTION-D

 Casestudy —Compulsory:

11. The foliowing are the budgeted' data relating to A Ltd. Aand B Ltd., producing
identical products. - ‘ _

» A Ltd. - - BLid.
_ _ o Rs. : ' Rs.
. Sales 3,00000 3,00,000
Less : Fixedcost . - 30,000 - . 70,000
_ Variable cost 2,40,000 . - 2,70,000 2,00,000 270,000
Budgeted Profit . 30,000 30,000

a) Calculate B.E.P., P/V ratio and margin of safety of each company.
b) State which company will earn more profitif :
i) Sales increased to Rs. 3,60,000 S

i) Sales decreasedtoRs. 1,80,000. (1x15=15)
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Reg. No.

VI Semester B.Com.2 Degree Examination, May/June 2017
AUDITING (Regular and Repeaters)
(2011 - 2012 Onwards)

. Time:3Hours | ‘ - - Max. Marks : 80

Instructions: 1) Answerall the Sections to Internal Choices.
2) Section ‘D’ iscompulsory. '

'SECTION-A |
1. Answer anjten_ of the following. .
a) What is Auditing 7.
b} What is ICAl ?
‘¢) Mention aﬁy two ex_amples of _errdr. |
d) Define internal Control. |
e) What do you mean by ‘Vouching’ .? -
f) What is Joint Audit ?. |
g) Mention éﬁy two advantages of Auditing.
h) Mention any twd disqualifibations of Audiiqr’.
i) Write any two rights of auditor. - |
i) Whatis contigent liabilty ?
k) Whaf is meant by. capitat receipts ?

) What do youmean by Audit Report ? B 0x2=20)

P.T.0.
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SECTION-B

Answerany three of.the folloﬁv_ing.
2 What are advantages of Stétutory Audit ?
What are limitations of Auditing ? :
What is meant by Fraud ? What are its types ?

Write a brief note on ‘Audit in Depth’.

< I B N

Explain in brief characteristics of Audit Report. ‘ (3x5=15)
SECTION-C

Answer ény_two of the following. |

7. What are the qualifications and qualities of company auditor ? Explain .in brief.

8. What is meant by continuous audit ? How does it differ from periodical audit ? |

9. Explain the rights and duties of auditor. . |

10. As an auditor, how do you vouch;

a) Wages |
- b) Carriage outward ' ;
c) Cash purchases. | | - (2x15=30)
SECTION-D
(Compulsory) -

11. Case Studies : _
i) Atransaction of credit sales worth Rs. 10,000/- has been omitted.A
ii) Cash purchases of Rs. 5,000 was entered in the purchases book as 50,000.
iii} An item of General exp. of Rs. 1,600/- was posted to salary a/c.
iv) Give the Specimen of a Disclaimer report. A . (1x15=15)
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- Reg. No.

V| Semester B.Com.z Degree Examination, May/June 2017
(2011 — 2012 Onwards) (Regular & Repeater)
COMPUTER APPLICATIONS IN BUSINESS - V

Time : 3 Hours | | Max: Marks : 80

Instructions - 1 ) All Sections are t.:ompu»lso'ryjsubject tointernal choice.
2) SectionD iscompulsory.
| SECTION—-A
Answer any ten questiolns._ Each carries 2 marks. L (2x1 0=20)
1. What do you meaﬁ by suspense account ?‘
Define compound journal entry.
How do you activate calculator in Tally ?
Wirite the steps to create a Iedger.
Define group. |
State any two valuation methods for stock items.
How you enable thé pﬁrchase order option in Tally ?

Write the difference between invoice and voucher.

© © N o 00 A~ 6 DN

List any four accounting features in Tally.

—
©

Expand | |
a) JPEG " b) BMP.
11. What is Day Book Report ?

12, Specify any two media players.

P.T.0..
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SECTION-B
Answer any three questions. Each cerries five marks. , | | (3x5=15)
13. Discuss the scope of accounting. ‘
14. Write the procedure of creating voucher entry in Tally
15. Describe how you can alter smgte and multlple godowns in Tally
16. Write a note on cash ﬂow statement |

17_. Explain the different communication media.

) SECTION-C
Answerany two of the following questions. Each carries 15 marks. (2x15=30)
18. Explain the subsystem of computerized aCcounting information system

19. What are reportsin Tally ? Explain Trial Balance and ratlo analysis report along
with diagram in Tally. . A

20. Discuss the different components of muitimedia in detail.

21, Write short notes on :

a) Advantages of accounting.
b) Generating sales order.
c) Mu!timedia tools.

| | SECTION-D |
Compulsory question (case study) : o ’ (1x15=15) !

22. Journalize the following transaction in tabular form to identify groups, ledgers
. and vouchers 2016. ' , S
1) April 1: ABC has started business with Rs. 2,00,000.

2) April 1: Opened bank account and deposited Rs. 50,000.
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3) April 3: Brought furniture for Rs 14,000 and Machinery of Rs. 40,000 for
cash.

_4) April 4 : Sold goods for Rs. 20,000 for cash.

5) April 6 : Purchased goods from X Y Z co. of Rs. 30,000.

6) April 8 : Brought one type-wnter Rs. 5,000 from Asha Sales Co. on credlt
~7) April 10 : Paid telephone b||| of Rs. 800 for the month by cheque

8) April 12 : Sold goods to Anand for Rs. 20,000.

9) April 19 :'Amount?withd_raWh from bank for personal use Rs. 4,000.

10) April 25 : Goods worth Rs. 1,000 found defective were returned to XYZ Co.
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Reg. No.

VI Semester B.Com.2 Examination, May/June 2017
(2011-2012 Onwards)
INDIAN FINANCIAL SERVICES - 3
(Regular and Repeater)

Time : 3 Hours | _ : Max. Marks : 80 -

Instructions: 1) Answer all the Sections with the given internal choices.
2) Use of non-programmable calculator is allowed.
- 3) Question No. 11 (case study) is compuisory.

SECTION--A

1. Answera'ny ten of the following questions : (10%2=20% -
a) Define financial services. :
- b) What s loan syndication ?
c) State two objectives of dematerialization.
d) What is maturity factoring ?
e) Name the two central depositories in India.
- f) What is credit rating ?
g) What is meant by leasing ?
h) Name any two private sector merchant banks operatlng in india.
i) What is venture capital ?
j) What s forfeiting ? ' .
k) Write any two functions of depositories.
) What is rematerialisation ? |

SECTION-B
Answerany three of the followmg questlons ‘ | » (3%5=15),
2. Bneﬂy explaln the lmportance of financial services.

3. Distinguish between financial lease and operating lease.
_ - P.T.0.
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Distinguish between factoring and forfeiti_hg.

State the conditions required for registration of merchant bankers.

State the merits of dematerializatibn_.

~ SECTION-C

Answer any two of the following guestions: - » (2x15=30)

7.
8.
9.

10.

1.

‘Whatis merchant banklng ? Descrabe 1ts functions.-

Discuss various kinds, advantages and limitations of factormg
What is NSDL ? Explain its direct and indirect benehts.
Explain the types 'Of_ financial services in Indié.

| ~ SECTION-D
Case studies (Compulsbry) 3 ' - o {(1x15=15) |
The following facts relates to alease proposal: . | o

a) Cost of machine Rs. 15,00,000 with salvage value of Rs. 1,00,000 after the
expiry of 5 years

b) Cost of capital is 14% p.a.
c) Lease period 5 years .
d) Lease rent Rs. 4,50,000 p.a.
e) Tax 30% p.a.

f) Depreciation : 15tyear — Rs. 3,75, 000 2ndyear — Rs. 2, 80 000,
3'dyear — Rs. 2,10,000, 4" year - Rs. 1,60,000, 5th year — Rs. 1,20,000

g) P.V.factor at 0.14 percent
1Styear—0.877 |
2ndyear—0.769 -«
3"dyear—0.675
4" year — 0.592
- 5thyear—0.476
Compute P.V. of cash inflows and advise the company whether it is fmanmally

- profitable to lease out the machme
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